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1.  Draw the expected SN2 product. Write N.R. (no rxn) if none is expected.

Shown here is the structure of three good leaving groups: 
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A tosylate is an alcohol derivative. The L.G. is called a p-toluenesulphonate ion or tosylate ion

Mesylate ions and triflate ions are similar.
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2.  Draw the expected SN1 product(s). Recall that nucleophilic solvents may compete for the substrate; if more than one product is expected, circle the major product.
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3.  Observe the reaction mechansim (SN1 or SN2) then indicate the stereochemistry of the product; there may be more than one stereoisomer.

a.  SN2  
[image: image17.wmf]I

H

N

-

C

K

+

+


b.  SN1  
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c.  SN1
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d.  SN2  
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e,  SN2
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f.  SN1
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4.  So far, you have examined intermolecular SN2 (bimolecular process). Now, draw the cyclized product from an intramolecular SN2 reaction (unimolecular process). To get started, recall what is formed when an alcohol or carboxylic acid is treated with a hydride reagent.

a.  
[image: image23.wmf]+

O

H

C

H

3

C

l

N

a

H


b.  
[image: image24.wmf]C

H

3

O

H

C

l

H

+

K

H


c.  
[image: image25.wmf]I

H

O

H

O

+

N

a

H


_1198478230.cdx

_1198478464.cdx

_1198478659.cdx

_1222752754.cdx

_1222753071.cdx

_1198478751.cdx

_1198478778.cdx

_1198478554.cdx

_1198478595.cdx

_1198478522.cdx

_1198478383.cdx

_1198478427.cdx

_1198478259.cdx

_1198477832.cdx

_1198478152.cdx

_1198478186.cdx

_1198478093.cdx

_1159205154.cdx

_1159206177.cdx

_1159206192.cdx

_1159206220.cdx

_1159205331.cdx

_1159202526.cdx

_1159202639.cdx

_1159202468.cdx

